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|+ Draw e graphs || X-axis: the horizontal axs |
| » Crcks [| Y-axs: the vertical axis :
| Read and interpret pie charts I Mean: the average of all the numbers |
|« Drow pie charts I Circumference. the perimeter of a circle. The line. around the outside |
: * The mean : Diameter: a straignt Ine that goes through the centre of a circle The longest ne in a circle. |
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: Line araphs 0 method to observe trends in datai over time and make comparisors : | Drawing line. araphs Height of a rocket |
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Tima “On Tuesday, more. water was consumed at *  Have reqular intervaks on both ‘ ‘
I Spm this could have been a period of I | axes Time 1 beled dcross the x axs :
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| Circles I Read and interpret pie charts |
| — Crour | | [Th\g bar model represents the information in the bar chart] |
I et reumierence (! Olays read the Copingham Primary School has 600 students 600 I
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twice the s daita datai
| Radis || Trereare 360°na " I
| length °f the | I crck There are 8 equal sectors |
L radus | |_ in this pie chart |
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Ple Chafts Wlth pefcenms [The whoke.pie chart represents 100 /} Drow pie Chafts There were 60 peopl asked in this survey
[ Typeoipet | Dog | Ca | Hamser | / (Total frequency)
This survey asked 160 people [Frequeny | 32 | 25 | 3 |
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Favourite Ice Cream Flavours

T the degrees (proportion of 360)
This fraction of the 360 degrees ‘;-' T )

160 + 10 - 16 €= Thsis [0/ make represents dogs f o I
other calcultions S
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| The mean  Mean — a measure of averdge 1t gves an ideai of the centrl valve :
: Freing o mean Lil Onnie Ezra The mean number ofhbbcks would be 8 :
| Lily Ornie and Ezra have the folowing cubes | i ciera % I
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